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Question 1

393mo3bocoger 653cegocmo (hadol 32 dohosbo 33emocen K Lobyole 860836g9cmmbnn 2.05

Select one:
int k=2.05;
double k=2,05;
float k=2.05f;
double k=2.05;

Question 2

3°3md3boegen 32 doheobo dogame (hadol 3sbogo k LoByolie 3608369cwmd00n15,20,40,70,56

Select one:
int [] k={15.20.40.70.56};
int k={15.20.40.70.56};
int k[]={15,20,40,70,56};
int k={15,20,40,70,56%};

Question 3
6> 0gbgdo i-b 360dgbgemmes?
inti = (6+2)%(2*3);

Select one:
.33
2
1.33
1

Question 4
@ob o394 c00gLb?
public class Sample {
public static void main (String arg[]) {
boolean a = true, b = false;
boolean f =! a&(a”~b)|(a&!b);
System.out.printin("f=" + f);

¥

Select one:
false
true
f=true

f=false

Question 5



ol odgdooglh?

public class BoolLogic {

public static void main (String arg[]) {
inti =3;

intb = 6;

intc = ((i & b) ~ (~i | b))&0xO0f;
System.out.printin(“c=" + c);

T3

Select one:

IS RS RS
7
3

Question 6

6o 0d6gd> a-b 360dgzbgemmds
byte a = (byte)(7 >> 2);

Select one:
3
4

1
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Question 7
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public class sample {

public static void main (String arg[]) {
intb = 10;

intc=++b * 2;

System.out.println (“c=" + c+ " b=" + b);
>}

Select one:
105
22 11

c=22 b=10

YD

c=22 b=11

Question 8
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class OpBit{

public static void main (String arg[]) {
inta=4,b=2;

a/=4;

b>>=1;

System.out.printin (“b=" +b+™ a=" +a);} }

Select one:

b=2 a=4



i
11

a=1b=1
b=1a=1

Question9

Gm3gemo 30mol géogdgbho(gd0) 96 308moabggal 3m33emmodmeel dg;3cmaol?
1)

int i=0; if(i){System.out.printin("Hello"); }

2)

boolean b=true; boolean

b2=true; if(b==b2){System.out.printin("So true");}

3)

inti=1; int j=2; if(i==1||j==2){System.out.printin("OK"); }
4)

inti=1; int j=2; if(i==1 &| j==2)System.out.printIn("OK");

Select one or more:

Question 10

303000 393m3bdgenmoes INt hodol Val 3gemoce o ggodal 36mgmodal dgdcogge
3ooq>o:
if(val<4) {
System.out.printin( "Test A" );
s

elseif(val<9){
System.out.printin( "Test B" );
b

else System.out.printin( "Test C" );

val 33@;5@0[) Mo 3503353@0030[}00030[) Qooba&qabo Test C?

Select one:
val = 0
val > =9
val < 0

val 0dymayges [4 , 9) 3gocmgdo
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val 0dgmayges (0 , 4) 3gocmgdo

Question 11
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int val=1;
switch (val) {
case 1:
System.out.print("one");
case 2:
case 3:
System.out.print("three ");
break;
case 4:
System.out.print("four ");
default:

¥

Select one:

System.out.print("default ");

three, four
one, three
default
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Question 12
339800 3mgEodol 3mee0. X-ob Go 36033bgemmdgdoboogol eondgdgds Bbmenme Test2?
switch (x) {
case 1:
System.out.printin("Test1");
case 2:
case 3:
System.out.printin("Test2");
break;
default:
System.out.printin("Test3");
by

Select one or more:

Question 13
6ol 0394003l Bem3g8nmmo 3Gma @852

public class TestDo {
public static void main(String[] args) {
intn = 23;
do {
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if (n < 20)

break;

System.out.print(" n=" + n);
} while (--n > 7);

>
Select one:
a. n=23 n=22 n=21 n=20
b. ©00363693L 300bgol 6036930l GomEgbmdsl 8sbogdo;
Cc. n=22 n=21 n=20 n=19 n=18
d. n=23 n=22 n=21
€. Nn=23 n=22 n=21 n=20 n=19 ... n=8

Question 14
6ol odgdoogl dmpgdymon 3GmgMods?

public class TestWhile {
public static void main(String[] args) {

intn=29;
while (--n > 5) {
if ((n<7)
break;
System.out.print(" n=" + n);
by
by
}
Select one:
a.n=8 n=7

b. n=9 n=8 n=7 n=6
c. n=9 n=8
d. n=8 n=7 n=6

Question 15
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public class sample {
public static void main (String arg[]) {
for (int k=0; k<5; k++)
if (k% 2 == 0)
System.out.print (* k=" + k);
>
>

Select one:
a. k=2 k=4
b. k=0 k=2 k=4

c.2
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Question 16
arr[] 3sboego 39c0390°> Bbmemmee EoEgd0mn dmgmmo Gozbggdologsb. Gob odgdwgh g
b 3Gmgemodo:
class fun {
public static void main(String args[]) {
int [] arr = {15,2,30,44,75,8};
int x=0;
for (int z : arr){
X=xXx<z?z2:X;
by
System.out.printin("x="+x);
by
by
Select one:
a. oodébgdl true/false oy 6m3gemody gemglgbho dgmbgds;
b. @0056)3536[) 30[)030[) 3@0@3[) 3@8336(5[);
C @0066)\353&) 30[)030[) 305[}030@360 3@933660[) oEQadbb;
e @0056)3536[5 30mb30b 60363&0[) émm@a&nbab 30[)0330;
Question 17

(N odssbo 333@350 300@0[) 33[563@360[) 33@380?

public class MyFor {

public static void main(String argv[]){
inti;

int j;

outer:

for (i=1;i <3;i++)

inner:

for(j=1; j<3; j++) {

if(j==2)

continue outer;
System.out.printin("Value for i=" + i + " Value for j=" +j);
bs

by

be

Select one or more:
a. Value for i=2 value for j=2
b. Value for i=1 value for j=1
c. Value for i=2 value for j=1

d. Value for i=3 value for j=1



